[ Efficiency vs vertpos |

= 0.0
g .009
.008
.007
.006
0.005
0.004
0.003

EHICIRACYYS ¥

[y

1072 10 1 10 0?
TP vertr (cr%)

—s— DQW_VOUUUI_RUU0U0000T _Global_cmsswW__RECO

—e— DQM_V0001_R000000001__Global__mkFitOriginal _ RECO

Efficiend —— DQM_V0001_R000000001__Global__mkFitNew__RECO
—— DOM V0001 _R000000001__Global__mkFitNew05__RECO

H
T

30 -20 -10 O 10 20 30
TP vert z (cm)

0.95!

[ Efficiency vs. sim PV z |
~ 0.01
>
80.009
5008
%.007
>
3.006
@
£.005
(]
0.004
0.003
0.002
0.001}

q

0.8

.................................................

...................................................

..................................................

...................................

Ratio

0 2 4 6 8 10
Sim. PV z (cm)




	Contents
	Page 1


